o
[N

< o cot(y) >

.............................................

<0 > (rad)
o
o [
[ [¢)]

......................

S U D T A
-2_0'2_[— ------ -kt 4 1T -4 - 14 o
< [ : | ] T
x r 4 P L

[T
N
|
=
o

-3 -2 -1 0 1 2 3 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_mkFit5_TTold-lowpt

—e— DQM_mKFit_TT_retrain-lowpt
—— DQM_mkFit_TT_NEWdefault_specPLess3-lowpt

100

EE i I | 5
= gofo HRR (| S RIEE: | R AR = gof- g :— respennaes
A E : A E : :
F 60t R 111 RS 1 AR AR ' 60F------1 1 EEARRLAEY
P E 5 . ] o E | :
v AOp e Tt v A0 :' R
20F--+-+ g flH-H 20F-+ | -
of - gl of-—-4f -
1M L : b
M : 44 .\ 44 - 1 B
- Htt-H A0 |01 O
i i i ] 0.6f------- b e e O e
-1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

> 5 T H
B o N :
A At AL i AR
o of 5 : 5
S Spr f : T
o o | | s
o 2F--t : i AR
v E i : :
L=eeeeer i N roseee
O+ SR [
] I ; d g AR
_25_ ....... ' ,. .......
_3;_ ...... : ,. - - et
e LI T8 -
o -5E | | AW i |
T e i
o L
| RRREEEE EEEEE M- 4 H
0.8f------- Poeees - {t- A SR
3 =2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


